Chris Sanford output
A:\>assignment2 < c:\temp\p2goodin.txt

NUMBERS ENTERED: 666 555 444 333 222

NUMBERS ENTERED: 616 323 345 456 987

YOU HAVE ENTERED THE FOLLOWING DATA:

666 616   0   0   0   0   0

555 323   0   0   0   0   0

444 345   0   0   0   0   0

333 456   0   0   0   0   0

222 987   0   0   0   0   0

 THE LARGEST NUMBER IS 987

 THE SMALLEST NUMBER IS   0

THE AVERAGE NUMBER IS  0.00

SORTED TABLE:

222 987   0   0   0   0   0

222   0   0   0   0   0   0

222   0   0   0   0   0   0

222   0   0   0   0   0   0

222   0   0   0   0   0   0

222   0   0   0   0   0   0

222   0   0   0   0   0   0

PROGRAM HAS FINISHED

A:\>assignment2 < c:\temp\p2bad.txt

NUMBERS ENTERED: 666 555 444 333 222

YOU HAVE ENTERED THE FOLLOWING DATA:

666   0   0   0   0   0   0

555   0   0   0   0   0   0

444   0   0   0   0   0   0

333   0   0   0   0   0   0

222   0   0   0   0   0   0

 THE LARGEST NUMBER IS 666

 THE SMALLEST NUMBER IS   0

THE AVERAGE NUMBER IS  0.00

SORTED TABLE:

  0   0   0   0   0   0   0

  0   0   0   0   0   0   0

  0   0   0   0   0   0   0

  0   0   0   0   0   0   0

  0   0   0   0   0   0   0

  0   0   0   0   0   0   0

  0   0   0   0   0   0   0

PROGRAM HAS FINISHED

A:\>assignment2 < c:\temp\p2full.txt

NUMBERS ENTERED: 666 555 444 333 222

NUMBERS ENTERED: 616 323 345 456 987

NUMBERS ENTERED: -12 -35 -42 -91 -23

NUMBERS ENTERED: 111 222 333 444 555

NUMBERS ENTERED: 212 434 454 567 456

NUMBERS ENTERED: 987 212 432 345 798

YOU HAVE ENTERED THE FOLLOWING DATA:

666 616 -12 111 212 987   0

555 323 -35 222 434 212   0

444 345 -42 333 454 432   0

333 456 -91 444 567 345   0

222 987 -23 555 456 798   0

 THE LARGEST NUMBER IS 567

 THE SMALLEST NUMBER IS 111

THE AVERAGE NUMBER IS -1.#R

SORTED TABLE:

222 987 -23 555 456 798   0

222 987 -23 555 456 798   0

222 987 -23 555 456 798   0

222 987 -23 212 456 798   0

222 987 -23 212   0 798   0

222 987 -23 212   0   0   0

222 987 -23 212   0   0   0

PROGRAM HAS FINISHED

A:\>

Goodin:  The average is wrong, the last column in the input was ignored, 0s were counted for minimum, sorting didn’t work

Badin: The program ran it without an error message

Full:  Sorted wrond, average, max, min are wrong, and the last column from input was ignored

